
SAP ABAP table A312 {TrCont.no./Item no.}

A312

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

TKONN [CHAR (10)]

TPOSN [NUMC (6)]

KFRST [CHAR (1)]

DATBI [DATS (8)]

KBSTAT [CHAR (2)]

T000

MANDT [CLNT (3)] A312-MANDT = T000-MANDT 0..N

0..N

T681A

KAPPL [CHAR (2)]
 A312-KAPPL = T681A-KAPPL 0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 A312-KSCHL = T685-KSCHL 
0..N0..N

T686E

MANDT [CLNT (3)]

KBSTAT [CHAR (2)]

 A312-KBSTAT = T686E-KBSTAT 

1

1

WBHK

MANDT [CLNT (3)]

TKONN [CHAR (10)]

 A312-TKONN = WBHK-TKONN 

0..N

0..N


